0000000 -000 (0200

7.000 000000 z=re® 00000000000,

(1) 2122 = 2129 (2) |2122| = |Zl||22|

8. 000000000 (cosf+ising)” = cos(nd) +isin(nf) 0000, 0000000 zeCOOO0.

9. 0000 f(:)=220000,000000000.

(1) fx)0 z=2+w 0000,y 0000 20000 f(z+iy)=u(z,y)+iv(z,y) DOODOO.

2) 000 {z=z+iy|z=4k} (k000)0,00000000000000000.00000,0
O f(z)0O000000O0O0O0OO0O0OO. (yOOOOUDOODO,O0 (wv)OOODOOOOOOOO
ooooooo.)

(3) 000 {z==+iy|y=Fk} (k0D00)0,00000000000000000.00000,0
O f(z)0O00O00O0O0O0OOOOoOoo.

10. 000000 90000000 f(z) =e* 000000, 0000 (1),(2,3)00000. 0000
f(z)=sin(z) 00000000O0DO0OO0.

11. 0000 f(z)=sinz=(e* —e™*)/2 0000, 000000000

fx)0 z=2+4+w 0000,y 000020000 f(z+iy) =ulz,y)+iv(z,y) OO0DOOO.
000 |sinz| 0O 2,y 0000000000, |sinz|>1000000 000000.
200000 21,22 0000000000sin(z1 +22) = sin(z1) cos(z2) +cos(z1)sin(z2) D0 D000 .
sinz=0000000 zeCOO0D0O0OOO.

12. 0000 f(z)=cosz= (¢ +¢)/20000,000000000.

1) f(2)0 z=z+4w0000,2,y 000020000 f(z+iy) =u(z,y)+iv(z,y) DOO0O0O.

)
) OO0 |ecosz| O z,y 0ODOOOOODOOO. |cosz|>1 000000 0000000.
)
)

3) 200000 2,22 0000000000cos(z14 22) = cos(z1) cos(z2) —sin(z1)sin(z2) 00000
4) cosz=0000000 zeCOOOODOOO.
[0ooo]
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